Series C Question Booklet No. :

Code : PAPER CODE : L1-2011
No. of pages in Question Booklet / ¥&-qRd®1 # $1 TS : 96
1. Roll 2. OMR Answer Sheet
No./ No. {To be filled in by
T H. the candidate] /
SmmaR. WE  wEE
(sl ZRT S SR
*** 3. Candidate’s Name / e T AT *** 4, Candidate’s Signature / TR & SRR

*** As given in Application Form / A HEEA-TH § e [hal ¢ |

Invigilator’s Signature / Sl&& & §&RT

1. 2.

There are 150 objective multiple choice questions in this paper. This Question Booklet is made up of the following
five sections : Section-1, II, 11, IV & V of 30-30 questions cach. The candidate has to attempt all sections. Each
question is of one mark. There is no negative marking for wrong answer.

W WA-TT A A 150 FR[S Sgad o WA € ) 5-0F o Oid @uet § faied § agr /vt Eus s Sfer
Ul WU - 101, 11, IV a9T vV H 30 W9 ¥ T Wl® W 1 3F F €| T I F oy Anifea mien T8 whi)

PAPER CODE : L1-2011

Total questions : 150 Time period : 90 minutes Maximum Marks : 150
No. of Question Nos. Page Nos.
Section Contents Questions From To From To
(1) Child Development and Pedagogy 30 1 30 3 10
[}11] Language I {Only One Language) 30 31 60

As selected by the candidate as medium of
instruction in the Online Application Form from the
Languages given below :

Hindi 30 31 60 11 14
English 30 31 60 15 18
Sanskrit 30 31 . 60 19 22
Urdu 30 31 60 23 26
Sindhi 30 31 60 27 30
Punjabi 30 31 60 31 34
Gujarati 30 31 60 35 38
{III) Language II {Only One Language) 30 61 90

As selected by the candidate as Language-11 { other
than the Language-1 ) in the Online Application
Form from the Languages given below :

\ Hindi 30 61 90 39 42
English 30 61 90 43 46

Sanskrit 30 61 90 47 50

Urdu 30 61 90 51 54

Sindhi 30 61 90 55 58

Punjabi 30 61 90 59 62

Gujarati 30 61 90 63 66

(v} Mathematics 30 91 120 67 78
{V) Environmental Studies 30 121 150 79 90

Note : In Sections Il and UI, a candidate has to attempt the questions of Languages compulsorily, as selected Language - 1 and
Language ~ [l in the Online Application Form. For Hindi version of the above Table & Note refer to Page No. 2

| Read the instructions in English & Hindi at Page No. 96, last page of this booklet. |

IIHHLHY [P.T.0.




L-1 2 [c]

9T ®iT : T 1-2011

F U - 150 wuaEty - 90 fume quil® - 150
a9 W& =
Qg ferera-qmy Ty 3 — @W —
{0 am-faspr wa foreror fafit (fmem ) 30 1 30 3 10
111 WTHT - [ (FEA U& WD) 30 31 60
TR gRT AT SR @ WAy @ un
A frAfefad amet d F 9ol & w0 H
FAATEA AEEA-IT § FHid w P
f R 30 31 60 11 14
| At 30 31 60 15 18
HGa 30 31 60 19 22
Ee 30 31 60 23 26
et 30 31 60 27 30
UAvet 30 31 .| 60 31 34
Tt 30 31 60 35 38
(1) WTHT- I1 (HaeT U& WTHT) 30 61 90
e R ©@iAd amr - I, Ro9TT - 1 ©
fm gt o foae 9gq Fefatea amedt §
¥ SHAendd AESH-YT A 9 1 & &9 |
o9 €
=t 30 61 90 39 a2
At 30 61 90 43 46
A 30 61 90 47 50
7 30 61 90 51 54
ot 30 61 90 55 58
ATt 30 61 90 59 62
AT 30 61 90 63 66
(V) nfrra 30 91 120 67 78
V) q-qia—nn- T 30 121 150 79 90
M . uHETdl g wWE-11 Ud WUe-11 W AFETeT AEE OF 7 TAW WIET o1 999 WIST -1 U WINT -1 & ®9 § fEa
2 36 T & Ty HE AfEE §)




E(Zl 3 L-1
SECTION - I
Qs -1

CHILD DEVELOPMENT AND PEDAGOGY

oo faera @@ frememe
There are 30 questions in all in this section.

All questions are compulsory.
WEE H FA 30RHE |
ity s €

1. The National Curriculum Framework, 2005 under the heading 'quality dimension’ gives
more importance to

{A) Physical resources

(B] Qualified and Motivated teachers

(C) Experiences designed for the child in terms of knowledge

{D) Experiences designed for the child and curriculum reform.

Y Wew=@al €@, 2005 ¥ ' Turaw TEW’ v % =i oifus Aew foar T
@) itfas SagAl @

B) Tufim @ safvmfE st =1

(©) e W fore T ¥ v § Wi s @)

(D) Hol & oy gtfa sgya ©d TSRy Gur & |

2. The National Curriculum Framework, 2005 suggests which of the following
examination reforms ?

(A} Class X examination optional

(B) State level exams to be conducted at different stages of school education
(C) Competitive entrance examinations optional

(D] All of these.

W weTeat wyeEn, 2005 ¥ 7= § A forg qlen wrad QUi &1 g ™ 2

(A) HET- X 1 wen s

(B) faerea faan =t fafim sraewedt @ osw WX &t wWisn g9

(©) wiwEr waw qhiensy &) s

(D) T d A

ATTET | PT.0.
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Reducing stress and enhancing success in examination necessitates
(A) A shift towards shorter examination
(B) Examinations te be conducted at different stages of school education
(C)  Annual and half yearly exams
(D)  Setting up of different agencies for conducting entrance exams.
TEIg h1 FY H TS gALSf § ghaa & fau savas §
(a)  FH afy F wlegnadl § st
(B) foenerdht faan =t fafim =ooff F wdensli 1 e
©) aftiF Td srgaftier ghers
(D) fafim waw gdensit & fau fafim weifaal = s
The purpose of evaluation is
[A) to label children as slow learner and gifted children
(B) to identify children who need remediation
(C)  to diagnose learning difficulties and problem areas
(D) to provide feedback on the extent to which we have been successful in imparting
education for a productive life.
i 1 32X §
(A) T ) g 8 Hen 9 1d afaamenedt Sl % w9 H dehe S
B) = T =) SERrE e &) sTevasdr ¥, I IEEE S
() Aftrm = wfaaal o TuEn A &1 & 9 q
(D) I9EH wiEq Wi & fog fen ffa ¥ o ToR = o€, &1 g yem w1
For primary school children, which of the following is better ?

(A)  Video simulation (B) Demonstrations
{(C) Hands-on-experiences (D) All of these.
myfas faemer & aewl & fau = o 758 s ara € 7

@& oSk sEaw B) v

(€ @& F g R @ P (D) THH TN |

Which of the following is more important for keeping the good mental health of
students ?

(A) Provision for curricular activities

(B) Freedom of expression

(C) Variety of interests

(D) Teacher's role and school environment.

faenfefg] & ored WA Tare & ¥ WA F fag = § & $9-w 9t sifus Teoqe ¥ 7
(a) el fRaed &1 wEyE

(B) efysafs w1 W=

() wfaat i =

(D) SEaTIsF Hi Vfem T fomerl SmamEo |

(AT 101
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‘Child belonging to weaker section’ means
(A) A child belonging to such parents whose annual income is low
(B) A child belonging to such parents who come under the disadvantaged group
(C] A child belonging to such parents who come under the category of below poverty
line
(D) A child belonging to such parents whose annual income is lower than the
minimum limit specified by the appropriate government.

‘FHHIIR T & ek’ ¥ el €

A) W sAhnrEl F deE o ot aiffe o 9 #

(B) W sl & arcw § W dfad 9 ¥ oM §

() W& Afysmeni F wrerEs A S ThET @ Y A W A g e €

(D) VA gl & et ¥ gEr g fuifa =mam dtw w1 arftfes s st dwma e s
i o om § |

The Right to Education Act, 2009 specifies that if the number of children admitted for
first class to fifth class is above two hundred then the pupil-teacher ratio required is

(A}  thirty (B) forty
(C) forty-five (D) fifty.

fean 1 stfuer afufem, 2009 ¥ ffEdy ffa T ¥ f5 wen- 1 9 wan-5 9% aflk waw i@ ™
Taenfea =) dem 21 Y ¥ sifve €, o foeneff-sremas smavas o™ g

() " (B ==IE

(€ Harefra D) = |

Which of the following statements is incorrect about action research ?

(A) It is conducted by teachers and educational professionals

(B} It is conducted to solve a specific problem

(C) It is conducted to provide information for decision making at a broader level
(D) 1t is conducted to focus on the solutions of day to day problems at local level.
forareres ogaaA & =y O 99 § 4 Fi9-w R udt e ® 2

A 7% e T e e A R A % g R o R

(B) e fwat fafire guen & wmym & fom feen o §

(€) =auw TR W ol o & foae e deem 1 % gwe TR i R

(D) g W W U &t wuensll & uuE & ol fhars srgaear fa s § )

(T [ P.T.O.
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10.

11.

12.

13.

14.

:
Which of the following statements is not true about teaching ?
(A) Teaching is modifiable (B) Teaching is formal and informal
(C) Teaching is a scienceas wellasart (D)  Teaching is instruction.
=1 8 § FH-w Fue fogo & O] § 99 TG 8 ?
(a) T o gur fwar s w6 § B) faew sfraenfie wd eriwanis
() Toer fogm & Wy-wy wen Wt & (D) foreor oTqERA

Some people say that whenever anger draws upon children, they go to play. Until they
feel better which of the defence mechanisms is represented by this behaviour ?

(A}  Projection (B Displacement
(C) Reaction formation (D) Sublimation.

TS AN 6 Fe ¢ fH 99 el F1 e o € i 9 gt & fau 9w W ¥ | o a9% R e
¥ 3T Yo el B, IT6 =er § = H | FiA yiwen o wiafya g g 2

(A)  WETm @B faermm

(©  wfafsar fmi (D) S |

Adjustment means accommodating oneself to various circumstances in order to satisfy
(A) others (B) motives

(C) goals (D) needs.

UEeH | oiegd Wd & fafvs afifefaal § srgem w3 § @fe a5 fFa w1 v

(&) T A (B) T =Wl

(C) I W D) FETFHA F |

Which of the following behaviours is not a manifestation of emotional disturbance ?
(A)  Delinquency (B) Bullying nature

(C) Truancy (D)  Autism.

=1 § | $-W SEsR TEAREs a9 & weRia T8 S ® 2

{A) T Iy (B) FHEIRI ST (A ATA

Q) sigr (D) &I

A provision for education for the children with disabilities can be done through

(A)  Inclusive education (B) Mainstreaming

Q) Integration (D) None of these,

frsare arer! # foen & foaw waym R s v &

a) wHERE faa g (B) & 4} H S

(C) WA FNW D) 39 9w
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15. Which of the following is not a characteristic of mental retardation ?
(A) 1.Q. between 25 to 70
(B} Learning in a slow pace and unable to do the activities of daily routine
[C) Poor adaptation with the environment
(D) Poor interpersonal relations.
=1 9 | S-9 wefaw 75w #t fae 1@ d 2
() FfsafF 259 70F 91 e
(B) e Tifa & e wE 3 Sfas i fRaedl 1 3w oa
(C) ATERY & WY Fher § Hisg
(D) sradafms G- F FHET T |

16. The temporary change in behaviour due to continuous exposure to stimuli is called

A Habituation (B) Learmning
(C) Temporary learning (D) Motivation.
fordlt S8 & fet fed ST 4 oFeeR # B aren et gRadA SHEar @
A)  TEE (B} e
(C) Ireurdt st (D) SR |
17. The teachers should not use which of the following ways to change the attitudes of
students ?

(A) Coercive persuasion

(B) Repetition of idea or assertion

() Endorsement by an admired person

(D) Association of the message with a good feeling.

forenfeddi =t stfvgfoal & ofed= & fou = 9 @ 5w fafa =1 v st =1 T8 w5 =few ?

(A) <uE ¥ fad 9@ @ faar # fau wst w7

B} Tl foar & ST AGT SEaATgEF HATR

(C) Tt wwiwHR safe & gl waeA 1@ @i

(D) WM F WY W= wi@ F |

18. Which of the following statements regarding achievement motive is true ?

(A) Achievement motive is necessary for survival

(B) If the satisfaction of personal potentialities is emphasized, the achievement
motive may be classified as a growth motive

(C) If the stress is on competition among people, the achievement motive can be
considered a social motive

(D) Al of these.

IqcIfed PN F g AT A - M s g 7
() Syafe A wifad w1 & fau onavas &
B) I =afwg erared &) S mEayyl € @ Iyafer SR €1 fam W #E 5 9ed §

() afe =fwal & "ug yfdafien w o7 &, @ Iuafsy Afayes &1 wmfas v w1
Tl B

(D] 378 &9 |
MY [ P.T.O.
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19.

20.

21.

22,

8 <]

During 6 to 10 years children start taking interest in

(A)  Religion (B} Human body
(C) Sex (D) School.

63 10 T4 HI s1awen H oSerew S o WY i §

@a wdd {B) WFE R A
(©) A= wra | D) foammd )

Which theory believes that human mind is like an iceberg mostly hidden and has three
levels of consciousness ?

(A)  Trait theory {(B) Type theory

(C)  Psychoanalytical theory (D) Behaviourist theory.
%17 fagra =% #@ & % ara afess % o $) 921 5gH ¥ gwa & S fE stfumiva: fedt
@At ¥ T IE <A % A "R E ? '

(@ T fagr B &R fagr

() TfavTeTes fagr (D) <FoERaR fagm |
Which of the following development tasks is not appropriate to the late childhood ?
(A) Learning physical skills necessary for ordinary games

(B} Achieving a masculine or feminine social role

{C)  Achieving personal independence

(D) Learning to get along with age-mates.

= 4 4 Si-m fawmaras i It Sodeen & Sugw e ¥ ?

A)  wHE Gl % ol TEvEs Wi Sy @i

(B) YEuifad @ foafaa amifes Jftsmedi #) wm Fon

(C) Sgfwe AeafvTal W FE

(D) 79 THSH Seish & |y @A 9@ |

Training in advance of normal maturation is generally

(A)  highly beneficial with respect to performance of the common skills
(B) harmful from an overall point of view

(C) beneficial from a long range point of view

(D) beneficial or harmful depending on the method used in training.
A qitvEed | gge wiufeE e g

(A) W HIE & e & d@ed ® aga ArvERt g R

(B) < faen =X g g @

() refemfers g @ ARt g R

(D) IVETI 81 41 B, 98 39 W it wear @ o ufvigor o form weem =1 fafy =1 wam
frarmar & |
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Five year old Raju is watching a storm from his window. A huge bolt of lightning is
followed by a tremendous thunderclap and Raju jumps at the noise. This happens
several more times. There is a brief lull and another lightning bolt. Raju jumps in
response to bolt. Jumping of Raju is an example of learning theory of

(A)  Classical conditioning (B) Operant conditioning

(C} Trial and Error (Dj None of these.

ore o & T S9! fagdl F et gEE F IEar ¥ faaelt et @ ol wge # are
ST 8 | TS UR A F ITORN ¥ | IR-TR T€ wA BNl @ | F 3o < wfa & uvEm fasre
grs-:;ﬁ?% ) T forrett &t T G IO 8 | TS &1 39l Wit & fRe fagm %1 e

(A) WA ST (B) TramEa s

(C) I T I D) 7 FE T |

Which of the following is an example of positive punishment ?

(A) Redicule by friends (B) Loss of time with friends
[C) Cease nagging (D) All of these.

TEHRIeas UL & 11 § |/ FH-H 3[R 72

(a) T ¥ g STE ® o & Wy I R/ &
© g e §E S (D) ¥ | Tt

Which of the following statements is not appropriate to motivation as a process ?
(A) It causes a person to move towards a goal

(B) It satisfies the person's biological needs

(C) It helps in achieving a psychological ambition

(D) It keeps away from an unpleasant situation.

frer 8 @ Fra-w Fe TN TF YRR F T § 3w e ¥ 2

(A) I8 SHfH &1 8 H1 AR o el €

(B) T AT F1 WARTF savashasi #t agfe Fwm

(C) 9% WA STHIEn F YW FH W FETEA A

(D) =% =t # A fefaa g rEm €

“Toy age' refers to

(A)  Early childhood (B} Late childhood
{C) Babyhood (D) all of these.
‘fael=t =t o' F51 9 ©

(A 9d arcEEsen B (B) SW AT FY
(C) e D) T F |

(TR [ PT.O.
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27.

28.

29,

30.

10
Which of the following is not a characteristic of early childhood ?

{A) Pre-gang age (B) lmitative age

{C) Questioning age {D) Play age.

=1 # | F9-H g areaesen F1 v w1 ¥ 2

(A) T/ 9YE H @ HT e (B) TN FT FH €A
(C) TH FW FH FGwq (D) W & 3FEq |

In late childhood period children understand the conversion of whic
entity(les) ?

(A) Mass (B) Mass and -number

{(C) Number (D) Mass, number and area.
IW STeEE ¥ S ifaw argell & fF8 aavas 9 ¥ uitEds 90y o € 2
(&) T B F=EH AR FEm

(C) wen (D) oM, Hem 3R & |

The meaning of development is

(A) progressive series of changes

(Bl  progressive series of changes as a result of motivation

(C) progressive series of changes as a result of motivation and experience
(D} series of changes as a result of maturation and experience.
famre = o1

(A) oftEd S & IR @l

(B) I % FerREEd TN 9 UReErHl &1 IR G

(C) AR TS F¥E F FOREEY TH A IRFAAT Bl ST STl

(D) ftusaar Td STE & ForRa®yd B ard YAl ot S |

Which of the following statements is not correct about development ?
{A) Each phase of the development has hazards

(B) Development is not aided by stimulation

(Ci Development is affected by cultural changes

(D) Each phase of the development has characteristic behaviour.

frE i i fM A FR- T O = & ?
@ o e e F o w

B) fawm IFEH / Sg@ 23 Q@ & e

) fawm arerfas gitEdHl | guifaa g

(D) fawmrg &1 yels sroeen &1 o fadand gt &

h physical
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wTHT -
&=t

MR AFTA 0TFE |
[Nt vy P ¥

31. g% fF w1 SR FH g & 2

(A) TS T (B) i Uz W@

(C) Tu widfe vev s &4 (D) =AM E |
32. 'w@' T 9’ 9 RS wea € 2

AR I i |

(B) fowemr s1d W @ wwg A o wie

() Toud e F=i o i frard €

(D) Toad Tw wevE, T favm o ww & R E
33. 'O IR W EE FE A A W

A A (B) wleRy
(C) FHEA (D) <R |
34. = & 9 fufyg @ §
() v 8w B) ¥ vga § 3R 9% G @
[C) |¥R wear & D) FTgTEFEANumaEE
35. fordt & w7 = 357 @ wng Ty faum fag & v e s & 2
) TawEaes R B) @y W IV o
€ YEEw fag D) v o8 |
36. ‘IH’ W faem w= ?
A ITH B T
) = (D) ¥EF |

(LR [ P.T.0.
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A T

€y =

‘ST I WgeE g
@ I
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(B)

D)

(B)

D)

(B)

(D)

(B)

(D)

a8 9HH

g wure |

e[ gy

T | FE T

g9 + 3+

Td + F |

afig

Sga=d FET ghm |
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45. T v=1 & WM % HTER *1E e T g ¥ IR Fe o 2
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@& F e e W wge T (B H ym I 7 Ia

() HA sEwA fR X 331 famn (D) ®W WU g@ T |
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SECTION - II
LANGUAGE I
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

31. The opposite of ‘similar’ is
(A) unsimilar (B) insimnilar
(C) different (D) near.
32. The word ‘approve’ is opposite in meaning to
(A}  confirm (B) reject
(C) accept (D) return.
33. Pick out the word which is spelt correctly :
(Al sinceerly (Bl sincierly
{C) sincerly (D) sincerely.
34. Which of the following words has correct spelling ?
(Al knowlege (B) knowledge
(C) knowlidge (D)  knowlige. .
35. Which one of the following words begins ( underlined ) with a different sound ?
(A)  kite (B) ool
(C) chemistry (D) city.

36. Supply an appropriate determiner :

My neighbour is ........coooviiiinn. honest person.
Al a (B) an
(C) the (D) any.

37. Which one of the following sentences expresses ‘possibility’ ?
There are dark clouds in the sky. ......c..ooeiviin .
(Al 1t will rain (B) It shall rain

(C) 1t may rain (D) It must rain.

LT [ P.T.O.
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38.

39.

40.

41.

42,

43.

44,

16
Pick out the sentence which has the meaning as the following :

No other animal is as brave as the tiger.

(A)  The tiger is a brave animal

(B) The tiger is as brave as any other animal
(C) The tiger is the bravest of all animals

(D) No animal, except the tiger, is brave.

Complete the following sentence with the correct form of adjective :

Anupam is ..., boy in the whole of the class.
(A the tallest (B) the taller
(C) the most tall (D) the more tall.

Pick out the sentence which has the same meaning as the following :
The last question was the most difficult question.

{A The questions were very difficult,

(B) The last question was more difficuit than any other question.

{C) Some questions were very difficult.

(D)  Only the last question was very difficult.

Choose the correct order of words :

(&) Do you live where ? (B) Do live you where ?
(C} Where do you live ? (D)  Where you llive do ?
Which of the following has a correct sentence pattern ?

A He gave her a book. (B) He gave a book her.
(C) He her gave a book. D) He a book gave her.
Complete the following sentence with the correct option :

The sky suddenly became ...................... .

(a) darkly (B) dark

(C) darkness (D) darken.

Which one of the following words is a noun ?

(Al Write (B} Wrote

(C) Written (D) Writer.



45.

46.

47.

48,

49.

50.

51.

2.

17 L-1
Supply the correct pronoun :
Arun and Lata have a house. ...............cc... house is quite big.
(Al  Their (B) His
{C) Her (D)  Theirs.

Point out the word which ends in a sound ( underlined ) different from that in other
words : '

(A}  who B) flew

{C) slow (D) shoe.

Identify the word in which the middle sound ( underlined ) is different from that in

other words :

(A} seen (B)  hit
(C)  heat (D)  brief.
Which one of the following words has a different sound ( underlined ) at the

beginning ?

(A} sure (B) cell

(C) sell (D)  psychology.

Point out the word which has a different sound ( underlined ) at the end :
(A} laugh (B)  graph

(C)  high (D}  half.

In which one of the following words do the letters ‘th’ have a different sound
( underlined ) ?

(A} this (B) that

(C) there (D)  thin.

The father said to his daughter, “When will you return ?*

In Reported Speech the above sentence will be :

The father asked his daughter

(A} when she would return ? (B) when would she return ?

(C} when she will return. (D) when she would return.

The teacher said to the students, “Be polite in your speech.”

In Reported Speech the above sentence will be :

The teacher asked the students

(A}  to be polite in their speech. (B) that be polite in their speech.
(C) to be polite in your speech. (D) that be polite in your speech.

IETHTLIT | P.T.0.
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My neighbour said to me, “I am going out for a few days”.

In Reported speech the above sentence will be :

My neighbour told me that

(A) he was going out for a few days. (B)

(C) he will go out for a few days. (D)

The word ‘magnificent’ is similar in meaning to

(A} very large (B) grand

(C) huge (D) royal.

The word ‘bliss’ has a meaning similar to

{AY happiness {B) anger

(C) darkness (D) innocence.
Pick out the verb from the following :

(A)  Create (B) Creation
{C) Creator (D) Creativity.
Select the correct verb form :

Sachin has ..........c.on many records.

(A) brokened B) broken

(C) broke 18)] breakened.
Fill in the correct form of the verb :

The train had left beforel ..................... the station.

(A) reached (B) had reached
(C) was reach (D) was reached.
Complete the following sentence :

Ifwe .o, a lottery, we will buy a car.

(Al will win (B) have won
i{C) won (D) win
Supply an appropriate determiner :

Thave ....ocovevviiiienne. glass of milk every morning,

(A) the (B) a

(C) any (D) some.

he is going out for a few days.

we are going out for a few days.
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SECTION - 1II
LANGUAGE 11
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Pick out the correct sentence :
(A) There are shop near my house. (B) There is shops near my house.
(C) There are a shop near my house. (Dj There is a shop near my house.

Select the correct form of the verb :

She ..cccovveieviiininn the right answer.

(A) knows (B) know

(C) is knowing (D) known.

Fill in the correct form of the verb :

When the phone rang, we ..............co.. television.

(Al watched (B) are watching
(C) were watch (D) were watching.

If Radhika had received an invitation, she would have gone to the party.
The above sentence tells us that Radhika

(A) did not receive the invitation (B) had received the invitation

(C) is waiting for the invitation {D)  did not want to go to the party.
Fill in the appropriate determiner :

The ring ismade of ..................... gold.

(A) the (B) a

(C) x (no determiner ) (D) any.

Mohan said to Savita, “Can I borrow your book for a day ?”
In Reported Speech the above sentence will be

Mohan asked Savita

(A) if he could borrow her book for a day

(B) if they could borrow her book for a day

(C) that could he borrow her bock for a day

(D] if that he could borrow her book for a day.

(L | P.T.0.
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67. She said to her brother, “Do not buy mangoes.”

In Reported Speech the above sentence will be

She asked her brother

{A)  to not buy mangoes (B) not to buy mangoes

(C) do not buy mangoes (D) do not to buy mangoes.
68. The students said, “We want to learn a foreign language.”

In Reported Speech the above sentence will be

The students said that

(A)  they want to learn a foreign language

(B) they wanted to learn a foreign language

(C) we want to learn a foreign language

(D) we wanted to learn a foreign language.

69. The word ‘courteous’ is similar in meaning to

{A) related to a court (B) impolite
(C1 polite D) kind.
70. Which word has a meaning similar to ‘significant’ ?
(A)  prominent (B) magnificent
(C) efficient (D)  important.
71. Which one of the following words ends in a different sound { underlined } ?
(A) city (B) sky
() by (D)  try.

72. Identify the word which has a different sound ( underlined ) in the middle :
(a) foot (B) should
(C) wood (D]  food.

73. In which one of the following words does the letter ‘I’ have a different sound
{ underlined ) ?
(A)  finish (B) final

€y fit (D) film.
74. Pick out the word in which the letters ‘ch’ have a different sound [ underlined ) :

(A) check (B) chess
(C) chemical (D) chairman.
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75. Which letter of the word ‘comb’ is not spoken ?
A c (B) 0
() m (D) b.
76. Which one of the following words is an adjective ?
(A) Use (B) Useful
(C) Using (D) Usefulness.
77. Complete the following sentence with the correct option :
My grandfather walks very .........ocooiviiieiinns .
(A) quick (B} fastly
(C) fast (D) nice.
78. Which one of the following has a correct sentence pattern ?
(A) She put all the books on the table. (B) She all the books on the table put.
(C) She put on the table all the books. (D) She on the table put all the books.

79, Choose the carrect pronoun to complete the following :

This booK 1S ....cccoviviviviannn, . and that one is mine.
{A) our book (B} your
(C) yours (D) yours book.

80. Choose the correct word order :
{A})  Why she did leave so early ? (B) Why did she leave so early ?
(C) Why did so early she leave ? D} Why so early did she leave ?

81. Complete the sentence by putting an appropriate determiner :

You sheuld always carry ..........cocvinnne. umbrella with you.
A a (B) an
[C) any (D) a few.

82. Manijit said to Anisha, "Could you please open the window ?"
In the above sentence Manjit is
(A)  asking a question (B} giving an instruction

(C) offering advice (D]  making a request.

I THEH [ P.T.O.
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No other member in the family is as intelligent as Raju is.
The above sentence has the same meaning as
(A)  Raju is intelligenter than any other member in the family
(B) Raju is not intelligent
(C) Raju is more intelligent than any other member in the family
(D) Other members in the family are not intelligent.

Complete the following sentence with the correct form of the adjective :

It Was .civiiiiieccees car he had ever driven.
(A)  the more comfortable (B) the most comfortable
(C) the comfortable (D) the comfortablest.

Choose the sentence which has the same meaning as the following sentence :

Mahim got a higher grade than any other student in the class.

(A) Mahim got the higher grade than any other student in the class
{(B) Mahim got a high grade than any other student in the class

(C) Mahim got the highest grade in the class

(D) Mahim got the high most grade in the class.

The opposite of the word ‘optimistic’ is

(A)  pessimistic (B) hopeful
(C)  ideal (D)  dull
The word ‘innocent’ is opposite in meaning to that of

(a) clever (B) ignorant
(C} active (D) guilty.
Pick out the word with the correct spelling :

(A)  varaity (B) varietey
(C)  varietd (D] variety.

Which one of the following has the correct spelling ?

(A)  impresive (B) imprescive

() impressive (D)  impressiv.

Point out the word which begins with a different sound ( underlined ) :
(a) house (B) home

(C)  honour (D)  hen.
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63. I feftmit f&F faoa mae uzsie 37
(A) wId (B] Uz
(C) T (D) A3
64. fermz dnf daht farnt os?
(a) w9 (B) dw
) 2 (D) s
65. n9" @ Uy 3 und fda yaw ¢ 987
(A) ¥V By f3w
(C) # (D) f&a
66. ‘wiiT’ mge T fegut mae fags ga=t 37
(A)  Sfvmr-yfamr (B) us¥s
(C) et (D) #BTs
67. ‘medt v fggz AvaoER AEE &dt 37
(a)  fysst B) gt
(©) d9fe (D) s
LR

[ P.T.O.
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68.

69.

70.

71.

72.

73.

74.

75.

60
Jrat 3T fR9 wie maet @ faxst fam yag 37

(A) A3 (B) AT

(C) fozshyma (D) &=t

(A) s (B)] FHs

C) = (D) A

IT o9« feRme < Guwas I-

(A) une fes (B) <o &3

(C) ¥Welswdm (D) & disyg

faht T= § 99 mine g9s et faud femans iy & <o3 it miet 32

(A) wdFe B)

(C) yaan D) 3=

‘it 39 I’ Hored wEl faos miew daet 37

(A)  HT A (B) wmae sfgzr

(C) <¢n3tes ot (D}  &4S Ava"

‘W5 FIB HI=Y BE! faaaT wige da=t 7

(A) gI-Te Sfo@ (B) GO Fgabut

(C) & ¥ guar (D) YU-IY UR 7 7
‘AU T 29T AuBhr 9t ger & - nrE wEl faos wiew dxe 37

(A) faA T a€ mA v EsE (B) @%ﬁ?a’im“we@'a‘af
(C) Hy T Fa1 mfgx (D) FHu g HIa

‘ Hel w geEr X 3 € 3 - e wE faos wiew dae 37

(A) fast Heit AwTo o= (B) &3 & 3 v fenrg fE9 A
(C) uo = fors Aefuz aga (D) Arz §3 far o= o5 & a9’
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77.

78.

79.

80.

81.

82.

83.
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€ ™ T A T 3, SO nigrd faodt 28t faor mer 37

(A) mEq IH (B) Wy Z®}
(C) i3y Z&t (D) &3ts 2w
ASS niug fdd g&?

(A) um (B) 99

(C) f3& (D) ¥

et ? wigsfRa fenivs fdd 57

(A) YA B) w9

() f35 (D) ¥

el &7 fdar o a7 fa & =93 st miet 32

(A) ®=A (B} s

© = (D) w9

far féa wos ? nis &9 faodt Sat I61 3 8F wae § wo-vus w=lz =et »iz fég & sarfenr
Aier 37

(A)  Ha= B) eRew

(C) (o) =

35 fafimi &9 faoz Aae »Eigg & & stz 2

(A)  IHAES (B) P=9
C) == D) ==
faaar maw fuSsg o a &dt afem 37

(A)  AHAI (B) K
(C) mEEa (D) wax

Ad9 Hiw a7 2 37 8 Afst § &t faor e 7
(A) d9 (B) w3

C) szt (D)  uwe

NN 101 [P.T.0.
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84.

85.

86.

87.

88.

89.

90.

62
J5 fen Tt {39 faus mae gg-nodt 7

(@) »iHge ua 3 (w) Ao Ua fifgg winge w foa 3

~

(A) nHge (B) ygr

c) 39 (D)  aEt =at

feazr wae ‘Sl mEm = AR aat 7

A) BT (B) famu

(C) =¥a : (D) fem

fro? mee T & 2 maet, Tamt A7t T= § wum 99 Wgs, 87 § ot fagr wier 37
(A) Hafgg (B) unw

() feRmz (D) ferfia

fro3 fefenrast fioas 0t auad o un &at T Aazd - feo wa @ faod famn 39
(A) Hgas (B) fumfez

(€) FAUTs (D) &t &t

ASISHE 3=t T8 o fan famy @ 7€ 787

(A) T wed (B) & Twa

(€) yHeewa (D)  ferfim
wE]! gAt te fifaam - feg fam yae ev o 37

(A) H¥ust ferfia (B)  yrFR=wH fenfia
(C) Jdeeivee ferfya (D) pPuawWea ferfra

TR § faux 2B zet ' gazr Ter 3 mifat Afest o fan iy & =93 &5t aict 30
(A) I (B) fga

() @ (D)  efget

LT
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62.

63.

64.

65,

66.

67.
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s : III
G TL TR 1
speraidl

ML visHi §d 30 usail 8,

€35 Wodloll vaion atudl S20rand 8.

MUl 22512 MRd M2 A2 «2fl
(Aa) o [Qtua 2 8, (B) ol [A&uel dde 8.
(C) u [4tua 2Adie 8 (D) o [Qtu= ydeuzen 8.,

As Al 22118 s2dlcll cidlet AELell S2di Y@L Uz 22018 Sedle] atl? uRie §2 8. 241 Hid d sleuell
ueifda & ?

{A) u2u2l (B}  doid
(C) d$ (D) walal.

205 A weude Y 8. el A Dol Yoll &, viygeud A fetist 212121 B. al 2el56l QR
2ielall 2l 2ioie & 7

(A) oud (B) [Ra

() [at (D) S5l
@20l el & ...

(A) bl ewdlRs (Bau (B) vl alq a1l
(C)  2aldwal 21t 211 (D)  Mlola Adql.

“wdell 22018 “ollaqial o12d v Hisieedl d .7 2 [@Eiet uell of ardl asa ?
(A) o ddl daiddlz 220161l Aleie WL & (B)  oidell &deli 221lgfal]l Beie ML B
(C) aefl viEll vidal 22080l Uleie A S (D) el 2211861l icie atefl Adi.

aadeot 2 HAel 5 GlaAl uel 45 S2di olal B, 24fed 24 ndel s2di Gial uet [Govar s2qi olal
3, dl 2lell dlal sle ?

jA) s (B)  uda
(C) [eva (D)  Al=a.
aer2dl 2ufdcani guu e stel wvaid & ?

(a) el (B} vl

{C)  NMeie (D) eaR0t.

I [P.T.0.
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68.

69,

70.

71.

72.

73.

74,

64

A5 & ol lsai 29 53 e olena RarRd 9f 5& 8 ?

2ldle
eufda.

1Sl

A)  a»e (B)
) oswa5 (D)
Bregel all3aumi Wasa M gi2t daidt Adal of 58 8 ?
(A el (B)
(C) slaesi D)

uldictt (@2l uld « avid yzdsd ef sdle| ?

(A)  Badlselellel (B)
(C) asigxid (D)
s1e2el dlaAdiell HIEUR Yvel 58 ouold U2 &la & ?

(A) e (B)
(C) ellds (D)

yal3au.,

vde el

WHicHsAl.

i(saoll 2iven

TAEASIZ,

“gol vd gellaell dadutst usetl Guz KR s2di Hla yxnid wma 2Adl Rula 8.”

alSAA HIEE 72 ol 74 SHIScU U=etloll Y 21l

atsei vildl sdsell aziadl 21w sal 8 ?

Al (B)
(C) ym»id (D)
‘i’ Aed ¢of 7

(A)  ga (B)
Q) edflz (D)
dis2ii 52l eud @5d 2dd &8 ?

A) el (B)
Q) [e2een (D)

ollall uRMe aidld 75 el 79 u=etlall veaor 2414l.

gollan
Rala.

;i

oo

Gecll2t

VLol

udcll azaile usau uedloll wdlsll Alept 2pia wA roicsll vl o ugp (3551 sl wa ! e
seisertiel siladl iel viuel 25aseri ASISER euA &, cdlel dl AvA RitnA B, yditiedl

v iol 2oL g Adl N 21221 a2t & .

a2 aubig 6w st Svzpii 8. [Asud Gonvu-Rrumnid 2suci sdld dol fimerd HHif®1s
vigemi vuvai 8, uot quiel viBdad ugkizd Waiell sq 201 8. aulbpged Mielq 2Q2glad 210El
8, uadl 8 i [asaudl 8. euadla igloll clidl 211 siq 202 el bid 8. wefl ¢ Yaeyd

& d ?
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76.

77.

78.

79.

80.

81.

82.

83.
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Gti1-2Uecllol Ngd 2o, Moefdd siglRa s2ez, apEel 2d ywoeld Geallid sau dl wel
U A5 ¥ ohg ! [AR6e(l deottd elerR dR21d e (icotell umlad Wuell drollo s2. s(aA1A £6L,
©9g, 2121, dld, 2, 21014 21 Haeylad 2udvll 8. a5 silded Naga’ 1i agrRivdl [Re
@eldd Gese Ad @sd s 8. it vrue 1ol dl sladiel alepu? #del ! ugki-yateu Mdetoll

dSUsl, JR0L, 2HIRYY Vel [ictatoll glael Al >bdeli s12e1 & !

odldeti i v ugept Slell 1010 Bsst usl ma & 2

o dideit siaell 2161l Rat ofiar &dl, dl veudl ¥ Aladizl sicefl uedldl (fa sal s ?

(A) az2ue (B)
(C)  &avua (D)
Wdelld Sld e & ?

(A) elesgla {B)
(C) well (D)
1 ulRwdeni 58 mdel needell 2efl 8 ?

(A)  aul (B)
(C) &ia (D)
agRivoll [Ae5als] aele 2wl 2] & ?

(A} get (B}
(C) Augd (D)
“daroln 524 ol el 2f eua ?

(A)  ysad (B)
{C) oloj 824 (D)
(A)  oRat (B)
(C) el (D)
olldauniell 52 a2 20462l el ud 8.

(A) = (B)
c) = (D}
viielleyoau ypl. (Riefl, 3218l ............ , SuEauasl.
A 6¢ (B)
(C)  apEvadl (D)

Wl 2poiar

25d50L.

GIbi-24E i)
wéldl 2pie.

i1z
qid.

e

d120.
eflvaq

e9i21L Gsisal.

LT
2z,

G
B,

ouofl
U],

“Ut AlSA oA o 2L 222 AS1A B [Akiet 201 YRida [Atuat 20&N.

&)  Fedls oA 21 2214 25124 B

(B) otll o121 211 22214 25121 S

(C) 3eclls o2t 2 222e1 Uz defl As1d)

(D)  au 22219 uR As1A GiEll o2 dlsd sl 9.
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85.

86.

87.

88.

89.

90,
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A [c2812d1 : Riawe, ol g : ?
(A) oig (B)
(C) anitll (D)

ofidell yFael 2aen? usell 85 el 88 ol cvaier 2.

Hol ol yedlofl 65Hd HAL A5 gkl dl
udai dl 51§ ¥ aegsy 2L v sietell
Ut Hdl vvrll-nuegev-ugy o Slesel
citldd Pelell ¥ &5, GLldlell &5 o2fl
5{dotl udcl a2gsu sal g2l ?

(A)  «tnel Yadiell &5 B

(B) ood sLIdletl &5 S1T4 ot2f)

deiE

(cotiel.

(C) oud Padisll 655 3, 21€] Mol Goldial 655 ot2ll

(D) vl Heprat Hal uAlA 2ilarefl 284,

slaal Fecu 2% e yedlal A ot & ?

(A)  DasorR (B)
(C) 5122 W (D)
Vs w2 s quRld 2AvE Sl B ?

(A)  &gHa (B)
€) =@ (D)
s(A<ll um slet 8 ?

(A) ot @Sl (B)
(C)  uepuvil (D)

Slell S USIRHL Ale ulsal sl & 2

diol A M2

McRid &S1 AHA HL.

aegsH

cuiq

uvll, sepeat, uey, Slesl

Hopry (Ridideil d 2upal.

20lale

{yal,

(A) e (B)
(C) &85 (D)
“o 52 natd uRej, d ¥3ld U2 Wil 52.°° Hi Slell aid s2apti 2udl B 7
(A) [uas (B)

(C}] al (D)

ell33]
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Section - IV / GUE - IV
MATHEMATICS / o
There are 30 questions in all in this section.
All questions are compulsory.
WA Y F 30TH T |
[t e e €

91. The value of 15 coins of 25 paise each is equal to

L. 3 coins of one rupee + 1 coin of 50 paise + 1 coin of 25 paise
11. 2 coins of one rupee + 3 coins of 50 paise + 1 coin of 25 paise
III. 3 coins of one rupee + 3 coins of 25 paise
[V. 3 coins of one rupee + 2 coins of 25 paise.

In the above four, the wrong staternent is

a1 (B) 111

cy 1 (D) IV.

25 %8 & 15 foaal 1 99 0= ®
. TH% & 3 faFk + 50T 1 | fogawr + 2599 %1 o o
II. TH %o & 2faeF + 5090 F 3faar + 2590 1 @ fawn
. %o & 3fasF + 257 & 3 fa*

IV. U %o 3fgar + 2590 & 2fawF

I9gw WR A W e FuF T
@ 1 (B I
€ 11 D) IV.

fnmm [ PT.O.
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92. The arrangement of the fractions % , % , % . % in ascending order is
W55 8 ® 33 55
fe 2.8 103 oo

93. If the cost of 5 pencils is 3% rupees then the cost of 2 pencils is

(A) Re. (B) Rs. %

| 0o

4 2
© Rs. 3 D) Re 3.
afz 5 Ufwe ®1 e 32 To ¥, A 2 ¥l % qea g

3 3
(A) Y To (B) 5 To

Wik
-~
o

© 3 D)

94. Which of the following statements is true ?
(A) 1 is not a prime number (B) 1 1s a prime number
{C) 1 is a composite number (D) 2 is not a prime number.
frAdfdsR-wFE wE R ?
(A) 13Ty e e © B) 13§

C) 19gs¥&® (D) 239 9& 98 ¢
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95. The prime factors of the number 720 are
(A) 2x2x3x3x2x5H (B) 2x3x4xHx6
) 3x3x4x4x5H (D) Z2x2x2x2x3x%x3x05H.
&N 720 F I THGES &
A) 2x2x3x3x2x5H (B) 2x3x4x5x%x6

(C} 3x3x4x4xb (D) 2x2x2x2x3x3Jx5H.

96. A person took some loan from a bank at the rate of 15% annual interest. If he pays

back Rs. 7,250 after 3 years then what is the amount of loan ?
{A) Rs. 5,000 (B) Rs. 4,500
(C) Rs. 6,500 (D) Rs. 5,500.

T =7 3 S A 9 T0T 150 ANt =7 $1 X @ IUR foran | o9 o= 91 91g 98 7,250 Fo
Fifqq T &, @ 393 foren T SR o= o ?

(A} 5,000 %o B) 4,500 %o
(C) 6,500%0 (D) 5,500 %o |

97. What is the interest on Rs. 500 for six months with a rate of interest 8% calculated six

monthly ?
(A} Rs. 20 (B) Rs. 30
({C) Rs. 48 (D) Rs. 40.

500 o T 6 UEIN H1 8% ! THE! T ¥ =4 &M
(A) 20%o (B) 30%o

(C) 48%e (D) 40%o |

L [ P.T.0.
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98. A person X sells an article of Rs. 100 with a loss of 10% to the person Y. Y sells it at a

gain of 10% to another person Z. What is the price at which Y sold the article to Z?
{A) Rs. 100 (B) Rs. 99
(C) Rs. 110 (D) Rs. 101.

TF S X, 100 % F I T, 10% F R AAGC Y R aG@ e | V,IHTEH 10%
N W AE ZzH M@ R, A Y A 50 e WA Z A= ?

{A) 100 %o (B) 99 %o
(&) 110 %o 19)] 101 %o |
99. Which is a plane in the following ?
{A}  Paper sheet (B) Glass
(€ Bal (D}  Cylinder.
= aegedl A @ FA-H wuEa ¥ 2
Ay H (B) firemE
© D) ¥ |
100. Which of the following statements is not true ?
{A) The figure formed by two rays passing through a point is called an angle
(B) A closed figure formed by three line segments is called a triangle
(C) A figure formed by three lines is called a triangle

(D} 1n a rectangle the length of opposite sides is same and each angle is a right

angle.

fAddsR I FuT ¥ ?

() fodt T fag @ @O0 T D ol @ T sl | P wEd ¥

(B) o=t o9 t@mavel | fodl g8 9 ofravfa &1 oyt #wga &

(© o=t = s | 50 ol # e wea €

(D) 39 W AHA-FEA T OIS F A THAM B ¥ A WS H0) THFRO T @



(<]

101.

102.

103.

71 L-1
On subtracting 8 metric tonne [ mt ) 50 kilogram from 12 metric tonne 8 quintals we
get

(&) 3 mt 8 quintal (B) 4 mt 7 quintal 50 kg

(C) 4 mt 8 quintal 50 kg (D) 3 mt 8 quintal 50 gm.

12 Hifgsr 29 8 faaeet # @ 8 Hifew 24 50 fFeium wem W wH g #

(a) 3Hifzes 27 8 foeea (B) 4vifgsw 27 7 fodea 50 fFen am

C) 47z 27 8faEea 50 fFat 1w (D) 3wifes 27 8faEea 50 foell |

A tank has 400 litre water. If 12 litre 500 ml water is used from it and the remaining

water is filled in 25 cans of same capacity, then what is the capacity of each can ?
(A) 121t 500 ml (B) 13 1t 500 ml
(C) 151t 500 ml (D) 14 1t 500 ml.

TH Ht A 400 T ot ¥ 1 39E 9 12 ¥eX 500 foefieie ut W o &9 & g 99 9 &)
O & & 25 fesal § 9 973 @ v fosy =t g ¥

(A 12§ 500 fas (B) 13 500 fae
(C) 157t 500 fa=t (D) 14« 500 fa=t o

Which of the following statements is incorrect for the time taken by big hand of a

clock to reach from one digit to exactly next digit ?
{A) 5 min (B) 300 sec

(C) l—lz—hour (D)  one hour.

HSt # wel g ¥ fFa ofw A SiF e o 9% e § T 91 999 & fog = | 9 sE-w

a) s5fre (B) 3009%<

>[4| (D) & He |

LR | P.T.O.
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104. The length and breadth of a rectangular field is 60 m and 40 m respectively. If on the

outer of its four sides the grass of 5 metre width is planted, then the area of grass

planted fileld is

A) 1100 m (B) 525 sq.m
Q) 1100 sq.m (D) 525 m.

T& JAAR BTR Y o 60 W U W’ 40 W § | IUF 9N SR el WE 5 W drerR H
I TS W @ AT A AT SATE 6 SAhd @

(A] 1100t (B) 52597 Ot
(€ 1100 = (D) 5254 |

105. A rectangular photo frame X is of 90 cm length and 70 cm width and a square frame Y

is of side 80 cm. Then which of the following is correct ?

{A]  Perimeter of frame X is 6300 sq.cm

(B) Perimeter of frame Y is 6400 sq.cm

(C) Perimeter of both X and Y frames is same and is equal to 320 sq.cm.

(D) Perimeter of both X and Y frames is equal to 320 cm.

TH AR o9 F B XF Tl 90 ¥ gen e’ 70 ¥ € ok & amiewr W Y H o=
goud }, difm i as-mwm g ?

(A ¥H X %1 9fg 6300 7 94t g
(B) WH Y T 9\ 6400 1 99 &
(© < WE X 9w Y & 9y s @ 320 7 |9 &

(D) < WA X 9 Y 9iET 320 A F = ' |
MHHHnn
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106. Write the following four numbers in descending order :

I. 4203567

. 4203657

1. 4203756

IV. 4203675
(A LI I, IV B LIV, I I
) LILIV, (D) a1, v, L
frefafad an demed =i smiel w9 § fod

[ 4203567

. 4203657

. 4203756

IV. 4203675
a1, IL 10, v (B) I1, v, 11, 1
() LI, IV, I (D) oL I, v, L

107. One crore is equal to

(A) 100 lacs (B) 1000 lacs
[C) 10 lacs (D) 100 thousands.
TF FUg TR B

(A} 1009E@ &H (Bl 1000 €@ &

) 109@% (D) 100 T9R % 1

108. The number 5 crores 9 lacs 4 thousands 9 hundred eighty-eight in numerals can be

written as

(A} 59004988 (B) 590400988
(C} 509049088 (D) 50904988.
& 5FNT 9@ 4TI 9 H erdt i s F fomn o ww g
(A} 59004988 B) 590400988
(C)] 509049088 (D)  50904988.

AR [ PT.O.



L-1 74 IE]

109. The population of a village is 78692. Qut of which 29642 are men and 28167 are

women and the remaining are children. Then the number of children is
(A} 20883 (B)] 21883
(C} 20893 (D) 20783.

T& T it o SHEA 78692 % | T | 20642 TFY ¥ 28167 uiremd ¥ qw vww=t ¥ 1
Tl = e

(A) 20883 (B) 21883
(C) 20893 (D) 20783.

110. If we divide zero by 60, then the dividend, divisor, quotient and remainder are

respectively

{A) 0,60,00 (B) 60.0, 1,0

C) 0,60, 0,1 (D) 60, 0, 0, 1.

T H 60 F W IX W 9o, WISTH, HITHA TF IaHe HER: ¥

(A 0, 60, 0,0 (B) 60, 0, 1, 0

(C) 0,60,0, 1 D) 60. 0, O, 1.
111. What is the highest common factor ( HCF ) of the numbers 425 and 476 ?

A 4 B) 5

) 17 | (D) 5l.

HEAST 425 U1 476 1 TewH Ao ( "o Ho o)

A 4 (B) 5

< 17 (D) 51.
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What is the least commoen multiple ( LCM ) of the numbers 90, 60, 75 and 35 ?

(A 2700 (B 6300
(C} 4250 D)  2750.
T 90, 60, 7594l 35 H TYTH FHTEE ( To Ho Uo ) ¥
@A) 2700 (B} 6300

(C) 4250 (D)  2750.

Five persons paint a house in 3 days when they work 8 hours everyday. Then if one
person works 4 hours everyday, how much time ( day ) will he take to complete the

same work ?

@ 30 ®
© 2 o .

T HHH i [ 53w, 81 UT M ok 3 i s@ € & 1 e, 4 921 U9 o9 =&
39 & #t e fm o o 2

@ 30 ® 3
6 3

The marks obtained in 4 subjects in an examination are 200. If the average of marks

obtained in 3 subjects is 48, then how many marks are obtained in fourth subject ?
(A} 50 (B) 144

() 152 {D) 56.

T T # W fawa ¥ ww FA ofF 200 % 1 AT A9 fawdi o ww e w1 ofwg a8 @ =9
o # wm 3w ¥

(Al 50 (B) 144

C) 152 (D) 56.

(LN [ P.T.O.
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115. A person sold a cycle at Rs. 935 with a gain of 10% then at how much amount did he

purchase the cycle ?
(A) Rs. 945 (B} Rs. 850
[C] Rs. 925 (D) Rs. 1,085.
T Hih A TF usfFa 935%0 § 10% o W 9= Al 36 98 WEihd fHar To § st off ?
(A) 945 %o (B) 850 %o
(C) 925%0 (D) 1,085 %o |
116. Which of the following is true for a triangle ?
{A)  All the angles are always acute angle
(B} One angle is always a right angle
(C} One angle is always an obtuse angle
(D) One angle is always an acute angle,
Py F e dids-armaat ?
(A) THE HU HIF = H G E
(B) UF W0 W GART gl ¥
(C) T F0 Wee fuH FHor gt ¢

(D) UF HIV Hed A R AT |
LT
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117. How many triangles are there in the following figure ?

A) b5 (B} 4
(C) 3 (D) 6.

fr= fax o fopam fym ¥ 2

(Al B (B) 4
© 3 D) 6.
118. The sum of all interior angles of a square is
{a 180° (B) 360°
) 270° (D) none of these.
-t & AR S o A g ®
(A) 180° (B) 360°

(C) 270° D) THASE T |

LT [ PT.O.
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119. Which of the following statements is correct ?
{A) A square is a particular type of rectangle
(B) Arectangle is a particular type of square
(C) Every ray is a line segment
(D}  Straight angle is of 90°.
fAdids-aFmaa? ?
(a) o T favie yER 1 9 g E
B) QU fadm wwr 1 ol g @
C) v fF T WErEvs e @
(D) Y / T I H 99 90° Tt ¥ |

120. One has to run 250 metres to take one round of a ground. A girl has run
75000 centimetres. Then how many rounds has she taken and how many rounds

more will she have to take in order to complete a run of 3 kilometres ?
A 3.9 (B) 30, 90
(€} 3,90 (D} 30, 9.

ford! #qF &1 TF IR oA B 250 W A IS ® 1 TF AS& 75000 g g ¥ 1 9w
fem Tt oK oM 3 fFdt %1 g ¢t 0 & fou 3/ e e gt o Bt 2

A 3.9 (B) 30, 90

(G 3,90 (D) 30, 9.
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SECTION -V
s -V

ENVIRONMENTAL STUDIES
UHieRuT 3G

There are 30 questions in all in this section.
All questions are compulsory.
W Ers § 3o 30T ¥ |
[ty e € |

121. Which of the following has maximum speed ?
(A) Air (B) Water Current
(C} Sound (D) Light.
ffefea o fage an sfuwas & 2
(A) ®@ (B)  SIeTYTT
© =@ (D) ¥ |

122. Which energy is converted into electrical energy by a solar cell ?
(A) Chemical energy (B] Nuclear energy
(C) Solar energy (D)  Magnetic energy.
R e g Tohd ool &) faege o1 B ogen o Wb § 2
(&) TEmEfE el B)  AfERE F=

(C) WHT Fll (D) = S |
(LT L [ P.T.O.
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123. Maximum amount of gas found in air is

{A)  oxygen (B) carbon dioxide
(C) hydrogen (D) nitrogen.

T waitysd AE # 9 9 9ol {1 R

(A) S (B) WTEA SRAEARS
© wEEgH (D) I |

124. Renewable source of energy is

(A]  Coal (B)  Petroleum
([C) Plants (D)  Uranium.
e calCicaeieReic i

(&) wrEen B i
c (D) gfFEm

125. Ozone layer is found in

(A) Thermosphere (B] Stratosphere
{C) Troposphere (D)  Mesosphere.
e W fHerdt @

(A) yHTERER W (B) WIFHWH
(C) R H (D) fasteRER | |
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126. Full form of CNG is

(A) Common National Gas
(B} Compressed Natural Gas
{C) Common Natural Gas

(D) Certified Natural Gas.
AT = 0 T ¥

&) A A A

(B) FER Y@

Q) &9 g g

(D) wfewEs g A9 |

127. wildlife Week is celebrated on

@A)

(B)

(C)

(D)

1st October to 7th October

15th October to 21st October

1st June to 7th June

15th June to 21st June.

T4 e gare T 96§

A

(B)

()

(D)

1 TREH F 7 AT TR
15 3ageR § 21 FEg 9%
1A 8 75F dF

155AH 21 A TF |
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128. State tree, state bird and state animal of Rajasthan State are

(A) Khejari, Godawan, Chinkara
(B} Khejari, Peacock, Tiger
(C) Babool, Godawan, Lion
(D) Mango, Peacock, Tiger.
TS T & TG g, To9 e} a9 o7 o= hua: &
(A) @S, memEy, fHwm
(B) @, AR, s
() a9a, TrEEy, I
(D) oI\, AR, 9™ |
129. In which state of matter, the distance between the molecules is minimum ?
(A] Solid (B) Liquid
) Gas (D)  Plasma.
e Y R TRy ¥ supel % Wew w gl A9 € ® 2
(W < B

© (D) TATSHT |

QLELITE T



130. Which state is known as ‘Tiger State’
{A)  Rajasthan

(C)  Gujarat

83

?

(B)

(D)

- T ‘TR QT F AN A T W R ?

(A) T

(€) TSOd

131. Carrier of Dengue disease is

(A)  Aedes mosquito

(C}  Housefly
<7 U 1 96F
(A) TEN 7=
C) = weEt

(B)

(D)

(B}

(D)

(B)

(D)

132. The biochemical laboratory of human body is

(A) stomach

(C) intestine

a7 % IR i AA-TEECE FEene €
(A) HAHETE

) e

L

(B)

(D)

(B)

(D)

L-1

West Bengal

Madhya Pradesh.

yf=m sme

e Y2 |

Culex mosquito

Anopheles mosquito.

AR 7= |

liver

kidney.

EECT
[ P.T.O.
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133. Aim of Pulse Polic programme is

A treatment of Polio

(B) stop paralytic effect of Polio

(C) complete eradication of Polio

(D) all of these.

ol MY FTEET # IR9E §

(&) difeE w1 STER

(B) Wiferdl | 3Ieqe wehal Tl

() e F Tl IREE FE

(D) FHATH |
134. Kashmiri Gown is known as

(A) Firan

{C) Bugtar

FYH =M FEed &

@A e

€ TR
135. Habitat of Dog fish is

(A) River

(C} Lake

He AT F AT §

()

) =

(B)

(D}

(B)

(D)

(B)

(D)

(B)

(D)

Angralkhi

Achkan.

g&T |

Pond

Sea.

|5 |
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136. City of Lakes in Rajasthan is

(A)  Jaipur (B) Jodhpur

(C) Udaipur (D) Ajmer.

Teree™ H el ® TR

@A) EH (B) WIYR

©) FEIR (D) S |
137. Who built the Vijay Stambha [ Tower of Victory ) ?

(A) Maharana Kumbha (B) Maharana Sanga

(C) Maharana Pratap (D}  Maharaja Jaisingh.

forsra we foha e 2

(A)  HETUUN HE (B)  TETON |

(C) TEHIUI Warq (D) HETST SgfHE |
138. Following traffic sign indicates :

(A)  Major road (B}  Pedestrian crossing

{C) Railway crossing (D) Narrow bridge.

[ PT.O.
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F=ifera amarama G = a1
(A) I HESR (B) & 9ROy
(C) Yo st (D) =4 e |

139. Full form of ATM is
(&)  Automated Teller Machine
(B)  All Time Money
(C) Automated Transfer Machine
(D)  Audit Teller Machine.
TATH # q0 FY ]
(A HEMET TeR TEiA
(B) ffer 23R HA
(€ IRemes ghaw meiA
(D) 3ifse oo’ wEfA |
(L
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140. Message sent by computer is known as
(A) SMS {B) FAX
(C} E-mail (D)  Telegram.
FIRE & A F WY T 9 69 Y heEd §
(A)  TETHCH B F

© ¥ (D) Tefum
141. In case of fraud or unfair business behaviour, we should lodge a complaint at
(A) Consumer Protection Forum
(B} District headquarters
[C) Tehsil
(D) Gram Panchayat.
ot srgan orfaa A EER g4 W TH fireEm w6 e
(@A) SUNIE I HE R
@ foen geneE ®
(C) wEH &
(D) W™ Y=Ed H
142. How many members of Rajya Sabha are nominated by the President ?
A 12 (B) 18
) 20 (D) 22.
TP gR1 TeEEs B ffas e wEe g ¥ 7
(A 12 (B 18

(C) 20 (D) 22,

(TR [ P.T.O.
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143. District industry centre provides employment to urban and rural youths under a

scheme known as
(A) Prime Minister's Gramin Sadak Yojana
[B) Prime Minister's Rojgar Yojana
(C) Jawahar Gram Samriddhi Yojana
(D) Swarna Jayanti Gram Swarojgar Yojana.
oren TEm F= fFm e & T8d YEQ TE WHI gaEi w7 AFIR GEq Fa § 2
(A)  WUFEHES WHT TEF Aol
(B) WU TSP A
(€) el uw wgfg ae
(D) =& S aW WRISR dreA |
144. Which country has the maximum number of tube-wells in the world ?
(A)  America (B) Australia
(C) China (D) India.
TR § e e e A H ¥ 2
W e | s
© == (D) YRa |
145. The Gangaur festival is celebrated on
{A)  Chaitra Shukla Teej
(B) Shravan Shukla Teej
(C) Bhadrapada Krishnapaksha Ashtami

(D) Chaitra Shukla Navami.

REITVHEAIN
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TOPTR =1 BN B WIaT §

(A)  IF yEd O @
(B) HEU Pad d &)
(C)  WIEUS Fo94 SEH =
(D) = Y& 9=t F |
146. Nuclear family refers to
(A)  any family born after 1950
(B] family includes parents and their children
(C)  entire family including children, their parents and grandparents
(D) only husband and wife.
TS i@ 9§ arad §
&) F9 1950 F 91€ a1 YEn
B} wiEr faad am-foa @ 3% 9=
() ol ofEr foad o=, 9% aa-frar w gE-aEt
(D) FFA G-I |
147. Tobacco addiction is due to
(a) Cocaine (B) Calfeine
(C}  Nicotine 19]] Histamine,
T 1 Ied foRa | T § 2
N CHE! B FEE
© ferfea D) fee |
(LR [ P.T.0.



L-1

148.

149.

150.

90

What are the minimum ages for marriage of boys and girls in India ?
(A) 21 years and 18 years

{B) 18 years and 21 years

(C) 18 years and 18 years

(D) 18 years and 16 years.

YR ¥ TS ° TIgihal i faarg dma =aw g 7= § ?

(A 21989 1894

(B) 18949 21a¥

€ 18999 187

(D) 18=9d 1639 |

Main occupation of people of Rajasthan is

(A)  mining (B}  bakery

(C) poultry farming (D}  agriculture.

TSEYH % T 1 &F a0 §

A @ B I

(C) it D Ffw

Which of the following places of Rajasthan does not have sugar factory ?
(a) Keshoraipatan (B) Nimbahera

(C) Udaipur (D) Bhoopal Sagar.

Toeg # Fre § 9 fed WM W e 1 H SREH T8 8 2

A)  FIETIIRA (B) e

(C) STIR (D) U 9PR |

ATREAR
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INSTRUCTIONS /
| Read carefully and comply / &1 ﬁ%aﬂ? A Y )
IMPORTANT /

1. In Section 1l {Language I} a candidate has to attempt the questions of the language which the candidate has selected as
Language ] in the Qnline Application Form.

GUE 11 (9T 1} B IG WIeT F G B T B S & g A wae el | W [ % w9 F AFema seea-ad O Rear

2. In Section [II (Language II) a candidate has to attempt the questions of the language which the candidate has selected as
Langua, 1?6 Il in the Onhne Application Form. The Language 11 wil! be different from Langua,
& (1) T F1 AR € fow a1 95 st 3 W 0 & w9 SR urﬁqﬁﬁmﬁlm|wuﬁﬁmﬂfﬁ|
3. The candndatc mqst ensure that the Question Booklet No. has been filled correctly at the prescribed plaees in the OMR Answer Sheet.
OMR YT % fAuifm wm W we= ufias wais 98 WO
1. Read complete instructions carefully and fill the details from SJ. No. 1 to 6 in the OMR Answer Sheet and S1. No. 1 to 4 in the

Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences arising during scanning of your Answer Sheet.

et # ot w7 @ q%éﬁtm1ﬁaa$ounvﬁzqam1@4aﬁmtﬁm(§$ﬁ2)aﬁiﬂ|uﬁmwﬁ%ﬁ
faamm Wit a1 gemer @ & O oMR ¥iz  BhAm & Ferasy g7 At siomst & o e w@d geEr gt

2. OMR Sheet No. should be written in the space provided in the Question Booklet.
OMR ¥ite HG1 W e 8 & i A Y ot e i)

3. The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates

will open the Question Booklet seals, Check whether the Booklet contains 150 questions starting from Page No. 3 to 90
BrC] A 96 75 U& 150 W &1 gl Priwr i R % Swrm # W gfer @%lw &y e
150 W% § = o g TEAT 3 8 WOV EH 90 T §

4. All questions are of MCQ (Multiple Choice Questions) ty'pe There is only one correct answer to cach question carrying one

mark. Therewillbe no ncgative marking for wn-m,g' answe
TEW & £1 TdE T 5 U qwed ﬁaﬁhmm%%ﬂﬁuﬁawwhmm*ﬁrﬂmw

& ﬁ&
5. All questlom other than language questions of S8ections [1 and III shall be bilingual.
U O & W =UE 0 U % T & sfafer sy mft aost F v frvmd g
6. In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in
uestion/s during the examination, .
e T qﬁiﬂ?%ﬂm#%ﬁmﬁmﬁqﬁmw&waﬁmhﬁuﬁﬁ%ﬁwm#mﬁmaml
7. Rough work, if any, may be dane in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off
from the Question Booklet. No additional paper shall be rowded
foe TR % 16 T #q W qiaw & o= § 39 3 I 9 T ¥ e e yfiee € T wid ) fd wwR w0 s e oo ad
FTEE] A= |
8. Use of Log tables, Calculatar, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument etc. is not

allowed Their use will result in dlsqua]:ﬂcatlon

T &, AR S, TN, Tovieel A A1 T 3 NN 1 (A ST / 9% 9 Wam athd § v
swhwq'ﬂw sy T Fa o W b |

9. OMR Answer Sheet will be provided alon%unth Question Booklet separately.
OMR ¥iie, T IR & a9
10. The Question Booklet will be issued to the candldate at 10:45 A.M. and the candidate must 0ill all entries in Question Booklet

and OMR Answer Sheet. The Question Booklet seals shall be opened at 11:00 A.M. After opening the Question Booklet, ensure
that any page/ question is no! missing / not printed / torn / repeated. In case, you find any defect anywhere in the Question
Booklet, immediately inform the Invigilator and get it replaced within 10 minutes by the [nvigilator, Warning Bell wall ring at
12:25 P.M. and the last long bell will ring at 12:30 P.M.
T W QT W 10:45 94 € mﬁmmﬁm aﬂ?oun?ﬂzﬂmﬂuﬁf@ﬁﬂﬁiﬁlm@ﬂﬁlﬁﬁ
) GieM H1 FO9T 11:00 9 &1 W a‘laﬁ TR T A TE X %mﬁﬁtﬁﬁﬂw | % W g Al
ﬂ @ VR A 3& Mgl T RTE H

e miq o T8 ¥ a1 I w%mfzm
Wﬁwﬂwﬂaﬁm# W;F:;ﬂg o | SaTEHr Het TITE 12:25 OY aeT uE W aa“ra’mm 12:30 T

11. Write your Exam Centre Code, Roll No., OMR Answer Sheet No., Question Booklet No.,, Name and put your Signature in the
space_provided in the Question Booklet as well as in the OMR Answer Sheet. )
o § OMR iz W Fuiftd ®H W w0 = F Fie, U7 T, OMR e FHiw, W qiaw #aiw, 99 fod 9 o senr w1
12. With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR
Answer Sheet corresponding to the question. For marking answers use blue/black ballpoint pen only. Gel pens / pencils are not
allowed.

Tl W & 9N dfo0s I A, B, CF D ® & ™ &) v A wm W F TE I T TTT Y 395 I H OMR W ¥ G
%ﬁqﬁ%mmrﬁﬁaﬁmwﬁmﬁlmﬁwﬁ% Htet 41 et T 9 BE IEE w0 A 9 1 e e swa

Correct method : | CORRECT/ T8 |\ ethod ; | WRONG / To@ WRONG / TTl@ | | WRONG / e WRONG / T71d
T loco @ KOO0 |[000| 0000 CeCe
13. OMR Answer Shcet is designed for computer evaluation. If you do not follow the instructions given above and shown in the

OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account
shall be of the candidate only.
OMR ¥ite Ht Fex 5 %%ﬁmw%m&msﬁwnﬁounwﬁzﬁﬁﬁwﬁﬁ?ﬁﬂwﬁaﬂﬁ‘rﬁmm{a:‘m
mm%ﬁm1wquﬁﬂﬁﬁﬁ# FHEA & FrERt W @ F
14. No candidate should leave the Exarnination Hall before the final bell. The Question Booklet as well as the OMR Answer Sheet
should be handed over together to the Invigilator before leaving the Exammanan Hall,
e et o
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